Filomat 36:5 (2022), 1711–1717 https://doi.org/10.2298/FIL2205711K



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Dimorphic Properties of Bernoulli Random Variable

Taekyun Kim^a, Dae San Kim^b, Hyunseok Lee^a, Seong-Ho Park^a

^aDepartment of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea ^bDepartment of Mathematics, Sogang University, Seoul 121-742, Republic of Korea

Abstract. The aim of this paper is to study a dimorphic property associated with two different sums of identically independent Bernoulli random variables having two different families of probability mass functions. In addition, we give two expressions on sums of products of degenerate Stirling numbers of the second kind and Stirling numbers of the first kind connected with those two different sums of identically independent Bernoulli random variables.

1. Introduction

It is well known that Bernoulli random variable is the discrete random variable which takes the value 1 with probability p and the value 0 with probability 1-p, where $0 \le p \le 1$. In this paper, we study a dimorphic property (see Theorem 2) associated with two different sums of identically independent Bernoulli random variables having two different families of probability mass functions.

Further, we give two expressions on sums of products of degenerate Stirling numbers of the second kind and Stirling numbers of the first kind in connection with those two different sums of identically independent Bernoulli random variables. In fact, one is expressed in terms of the expectation of a random variable associated with one sum of identically independent Bernoulli random variables (see Theorem 3) and the other in terms of an integral involving the other sum of identically independent Bernoulli random variables (see Theorem 4). In the rest of this section, we recall some facts that are needed throughout this paper.

For any $\lambda \in \mathbb{R}$, the degenerate exponential function is defined as

$$e_{\lambda}^{x}(t) = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^{n}}{n!}, \quad (\text{see} [7, 8, 9, 10, 11, 12]), \tag{1}$$

where $(x)_{0,\lambda} = 1$, $(x)_{n,\lambda} = x(x - \lambda)(x - (n - 1)\lambda)$, $(n \ge 1)$.

When x = 1, for simplicity we write $e_{\lambda}(t) = e_{\lambda}^{1}(t)$. Note that $\lim_{\lambda \to 0} e_{\lambda}^{x}(t) = \sum_{n=0}^{\infty} \frac{x^{n}}{n!} t^{n} = e^{xt}$.

Received: 28 May 2021; Revised: 27 December 2021; Accepted: 01 January 2022

²⁰²⁰ Mathematics Subject Classification. Primary 11B73; Secondary 60G50

Keywords. Bernoulli random variable, dimorphic properties, degenerate Stirling numbers, Stirling numbers

Communicated by Hemen Dutta

Email addresses: tkkim@kw.ac.kr (Taekyun Kim), dskim@sogang.ac.kr (Dae San Kim)

The Stirling numbers of the first kind are defined by

$$(x)_n = \sum_{l=0}^n S_1(n,l) x^l, \quad (n \ge 0), \quad (\text{see } [1,3,4,14]),$$
 (2)

where $(x)_0 = 1$, $(x)_n = x(x-1)\cdots(x-n+1)$, $(n \ge 1)$. As the inversion formula of (2), the Stirling numbers of the second kind are defined by

$$x^{n} = \sum_{l=0}^{n} S_{2}(n, l)(x)_{l}, \quad (n \ge 0), \quad (\text{see } [14, 15, 16, 17, 18]).$$
(3)

Moreover, in [8] the degenerate Stirling numbers of the second kind are defined as

$$(x)_{n,\lambda} = \sum_{l=0}^{n} S_{2,\lambda}(n,l)(x)_{l}, \quad (n \ge 0).$$
(4)

Note that $\lim_{\lambda \to 0} S_{2,\lambda}(n, l) = S_2(n, l)$, $(n, l \ge 0)$. From (4), we note that

$$\frac{1}{k!} \left(e_{\lambda}(t) - 1 \right)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n,k) \frac{t^n}{n!}, \quad (k \ge 0), \quad (\text{see} [6,8,9]).$$
(5)

Let *X* be a discrete random variable with probability mass function $p(j) = P\{X = j\}, (j = 1, 2, ...)$. Then the expectation of *X* is defined by

$$E[X^n] = \sum_{i=1}^n i^n p(i), \quad (n \in \mathbb{N}), \quad (\text{see} [1, 2, 17]).$$
(6)

It is known that that the variance of *X* is given by

$$\sigma^{2} = \operatorname{Var}(X) = E[X^{2}] - \left(E[X]\right)^{2}, \quad (\text{see } [17]).$$
(7)

Let $(X_j)_{1 \le j \le n}$ be identically independent Bernoulli random variables such that X_j has the probability of success $\frac{1}{j}$, (j = 1, 2, ..., n). That is,

$$X_j = \begin{cases} 1, & \text{if success,} \\ 0, & \text{otherwise,} \end{cases}$$
(8)

with $P{X_j = 1} = \frac{1}{j}$, $P{X_j = 0} = 1 - P{X_j = 1}$, where j = 1, 2, 3, ..., n, (see [2,5,13,17,18]). Let us assume that the random variable Y_n is defined by

$$Y_n = X_1 + X_2 + \dots + X_n = \sum_{i=1}^n X_i.$$
(9)

From (6), (7) and (9), we note that

$$\mu_n = E[Y_n] = \sum_{j=1}^n E[X_j] = \sum_{j=1}^n \frac{1}{j},$$
(10)

and

$$\sigma_n^2 = E[Y_n^2] - \left(E[Y_n]\right)^2 = \sum_{j=1}^n \frac{1}{j} \left(1 - \frac{1}{j}\right).$$
(11)

2. Dimorphic properties of Bernoulli random variables

In this section, we show the dimorphic property (see Theorem 2) associated with the two different sums $Y_n = \sum_{j=1}^n X_j$ (see (9)) and $Z_{n,\lambda}(\alpha) = \sum_{j=1}^n X_{j,\lambda}(\alpha)$ (see (13)) of the identically independent Bernoulli random variables X_j , with the probability of success $\frac{1}{j}$, and those $X_{j,\lambda}(\alpha)$, with the probability of success $\frac{\alpha}{\lambda_j + \alpha}$.

For $\alpha > 0$ ($\alpha \in \mathbb{R}$), and $\lambda \in (0, 1)$, let $(X_{j,\lambda}(\alpha))_{1 \le j \le n}$ be identically independent Bernoulli random variables such that $X_{j,\lambda}(\alpha)$ has the probability of success $\frac{\alpha}{\lambda_{j+\alpha}}$, (j = 1, 2, ..., n). That is,

$$X_{j,\lambda}(\alpha) = \begin{cases} 1, & \text{if success,} \\ 0 & \text{otherwise,} \end{cases}$$
(12)

with $P{X_{j,\lambda}(\alpha) = 1} = \frac{\alpha}{\alpha + \lambda j}$, $P{X_{j,\lambda}(\alpha) = 0} = 1 - P{X_{j,\lambda}(\alpha) = 1}$. Let us assume that $Z_{n,\lambda}(\alpha)$ is defined by

$$Z_{n,\lambda}(\alpha) = X_{1,\lambda}(\alpha) + X_{2,\lambda}(\alpha) + \dots + X_{n,\lambda}(\alpha) = \sum_{i=1}^{n} X_{i,\lambda}(\alpha).$$
(13)

From (6), (7) and (13), we have

$$\mu_{n,\lambda}(\alpha) = E[Z_{n,\lambda}(\alpha)] = \sum_{j=1}^{n} \frac{\alpha}{\alpha + \lambda j'},$$
(14)

and

$$\sigma_{n}^{2}(\alpha) = \operatorname{Var}\left(Z_{n,\lambda}(\alpha)\right) = E\left[Z_{n,\lambda}^{2}(\alpha)\right] - \left(E\left[Z_{n,\lambda}(\alpha)\right]\right)^{2}$$

$$= \sum_{j=1}^{n} E\left[X_{j,\lambda}^{2}(\alpha)\right] + 2\sum_{i < j} E\left[X_{j,\lambda}(\alpha)\right] E\left[X_{i,\lambda}(\alpha)\right]$$

$$- \left\{\sum_{j=1}^{n} \left(\frac{\alpha}{\alpha + \lambda j}\right)^{2} + 2\sum_{i < j} \left(\frac{\alpha}{\alpha + \lambda j}\right) \left(\frac{\alpha}{\alpha + \lambda i}\right)\right\}$$

$$= \sum_{j=1}^{n} \frac{\alpha}{\alpha + \lambda j} + 2\sum_{i < j} \frac{\alpha^{2}}{(\alpha + \lambda j)(\alpha + \lambda i)} - \sum_{j=1}^{n} \left(\frac{\alpha}{\alpha + \lambda j}\right)^{2} - 2\sum_{i < j} \frac{\alpha^{2}}{(\alpha + \lambda j)(\alpha + \lambda i)}$$

$$= \sum_{j=1}^{n} \frac{\alpha}{\alpha + \lambda j} \left(1 - \frac{\alpha}{\alpha + \lambda j}\right).$$
(15)

Lemma 1. For $n \ge 1$, let $\mu_{n,\lambda}(\alpha)$ be the mean of $Z_{n,\lambda}(\alpha)$, and let $\sigma_{n,\lambda}^2$ be the variance of $Z_{n,\lambda}(\alpha)$. Then we have

$$\mu_{n,\lambda}(\alpha) = \sum_{j=1}^n \frac{\alpha}{\alpha + \lambda j},$$

and

$$\sigma_{n,\lambda}^2(\alpha) = \sum_{j=1}^n \frac{\alpha}{\alpha + \lambda j} \Big(1 - \frac{\alpha}{\alpha + \lambda j} \Big).$$

From (8), we have

$$E\left[\left(1+\frac{z}{\lambda}\right)^{X_{j}}\right] = \left(1+\frac{z}{\lambda}\right)P\{X_{j}=1\} + P\{X_{j}=0\}$$

$$= \frac{1}{j} + \frac{z}{\lambda j} + 1 - \frac{1}{j} = 1 + \frac{z}{\lambda j}.$$
(16)

By (16), we get

$$E\left[\left(1+\frac{z}{\lambda}\right)^{Y_n}\right] = E\left[\left(1+\frac{z}{\lambda}\right)^{\sum_{j=1}^n X_j}\right]$$

=
$$\prod_{j=1}^n E\left[\left(1+\frac{z}{\lambda}\right)^{X_j}\right] = \prod_{j=1}^n \left(1+\frac{z}{\lambda j}\right).$$
(17)

On the other hand,

$$E[z^{Z_{n,\lambda}(\alpha)}] = E[z^{\sum_{j=1}^{n} X_{j,\lambda}(\alpha)}] = \prod_{j=1}^{n} E[z^{X_{j,\lambda}(\alpha)}].$$
(18)

Note that

$$E[z^{X_{j,\lambda}(\alpha)}] = zP\{X_{j,\lambda}(\alpha) = 1\} + P\{X_{j,\lambda}(\alpha) = 0\}$$

$$= \frac{\alpha z}{\alpha + \lambda j} + 1 - \frac{\alpha}{\alpha + \lambda j}$$

$$= \frac{\alpha z + \lambda j}{\alpha + \lambda j}, \quad (j = 1, 2, ..., n).$$
(19)

By (18) and (19), we get

$$E[z^{Z_{n,\lambda}(\alpha)}] = \prod_{j=1}^{n} \left(\frac{\alpha z + \lambda j}{\alpha + \lambda j}\right).$$
(20)

From (17) and (20), we note that

$$E\left[\left(1+\frac{\alpha}{\lambda}\right)^{\gamma_n}\right]E\left[z^{Z_{n,\lambda}(\alpha)}\right]$$

$$=\prod_{j=1}^n \left(1+\frac{\alpha}{\lambda_j}\right)\prod_{j=1}^n \left(\frac{\alpha z+\lambda j}{\alpha+\lambda_j}\right)$$

$$=\prod_{j=1}^n \left(\frac{\alpha z+\lambda j}{\lambda_j}\right)=\prod_{j=1}^n \left(1+\frac{\alpha z}{\lambda_j}\right).$$
(21)

By (8), we easily get

$$E\left[\left(1+\frac{\alpha z}{\lambda}\right)^{Y_n}\right] = \prod_{j=1}^n E\left[\left(1+\frac{\alpha z}{\lambda}\right)^{X_j}\right] = \prod_{j=1}^n \left(1+\frac{\alpha z}{\lambda j}\right).$$
(22)

Therefore, by (21) and (22), we obtain the following theorem.

Theorem 2. *For* $n \in \mathbb{N}$ *, we have*

$$E\left[(1+\frac{\alpha}{\lambda})^{Y_n}\right]E\left[z^{Z_{n,\lambda}(\alpha)}\right] = E\left[\left(1+\frac{\alpha z}{\lambda}\right)^{Y_n}\right].$$

3. Applications to sums of products of degenerate Stirling numbers of the second kind and Stirling numbers of the first kind

Here, as an application of the dimorphic property in Theorem 2, we derive two different expressions on the sum $\sum_{m=l}^{n} S_{2,\lambda}(n+1,m+1)S_1(m+1,l+1)$, one involving Y_n (see Theorem 3) and the other involving $Z_{n,\lambda}(\alpha)$ (see Theorem 4).

From (2) and (4), we note that

$$(x)_{n+1,\lambda} = \sum_{m=0}^{n+1} S_{2,\lambda}(n+1,m)(x)_m = \sum_{m=1}^{n+1} S_{2,\lambda}(n+1,m)(x)_m$$

$$= \sum_{m=0}^n S_{2,\lambda}(n+1,m+1)(x)_{m+1}$$

$$= x \sum_{m=0}^n S_{2,\lambda}(n+1,m+1) \sum_{l=0}^m S_1(m+1,l+1)x^l$$

$$= x \sum_{l=0}^n \Big(\sum_{m=l}^n S_{2,\lambda}(n+1,m+1)S_1(m+1,l+1)\Big)x^l.$$
(23)

By (1) and (17), we easily get

$$(x)_{n+1,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-n\lambda)$$

$$= n!\lambda^{n}(-1)^{n}x\left(1-\frac{x}{\lambda}\right)\left(1-\frac{x}{\lambda 2}\right)\cdots\left(1-\frac{x}{\lambda n}\right)$$

$$= n!(-1)^{n}\lambda^{n}x\prod_{j=1}^{n}\left(1-\frac{x}{\lambda j}\right)$$

$$= n!(-1)^{n}\lambda^{n}xE\left[\left(1-\frac{x}{\lambda}\right)^{Y_{n}}\right].$$

$$(24)$$

From (23) and (24), we note that

$$z \sum_{l=0}^{n} \left(\sum_{m=l}^{n} S_{2,\lambda}(n+1,m+1)S_{1}(m+1,l+1) \right) z^{l}$$

$$= n!(-1)^{n} \lambda^{n} z E\left[\left(1 - \frac{z}{\lambda}\right)^{Y_{n}} \right]$$

$$= n!(-1)^{n} \lambda^{n} z \sum_{l=0}^{n} (-1)^{l} E\left[\binom{Y_{n}}{l} \right] \left(\frac{z}{\lambda} \right)^{l}$$

$$= z \sum_{l=0}^{n} (-1)^{n-l} \lambda^{n-l} n! E\left[\binom{Y_{n}}{l} \right] z^{l}.$$
(25)

By comparing the coefficients on both sides of (25), we obtain the following theorem.

Theorem 3. For $0 \le l \le n$, we have

$$\sum_{m=l}^{n} S_{2,\lambda}(n+1,m+1)S_1(m+1,l+1) = (-1)^{n-l}\lambda^{n-l}n!E\left[\binom{Y_n}{l}\right].$$

As Y_n is taking integer values between 0 and n, we see that

$$\frac{1}{2\pi} \int_{-\pi}^{\pi} E\left[\left(1 + \frac{\alpha}{\lambda}e^{i\theta}\right)^{Y_n}\right] e^{-im\theta} d\theta = \frac{1}{2\pi} \int_{-\pi}^{\pi} \sum_{j=0}^{n} E\left[\binom{Y_n}{j}\right] \left(\frac{\alpha}{\lambda}\right)^j e^{ji\theta} e^{-im\theta} d\theta$$

$$= \sum_{j=0}^{n} E\left[\binom{Y_n}{j}\right] \frac{\alpha^j}{2\pi} \lambda^{-j} \int_{-\pi}^{\pi} e^{i\theta(j-m)} d\theta$$

$$= \lambda^{-m} \alpha^m E\left[\binom{Y_n}{m}\right],$$
(26)

where $i = \sqrt{-1}$.

From Theorem 2 and (26), we have

$$\lambda^{-l}\alpha^{l}E\left[\binom{Y_{n}}{l}\right] = \frac{1}{2\pi} \int_{-\pi}^{\pi} E\left[\left(1 + \frac{\alpha}{\lambda}e^{i\theta}\right)^{Y_{n}}\right]e^{-il\theta}d\theta$$

$$= \frac{1}{2\pi}E\left[\left(1 + \frac{\alpha}{\lambda}\right)^{Y_{n}}\right] \int_{-\pi}^{\pi} E\left[e^{i\theta Z_{n,\lambda}(\alpha)}\right]e^{-il\theta}d\theta$$

$$= \prod_{j=1}^{n} \left(1 + \frac{\alpha}{\lambda j}\right)\frac{1}{2\pi} \int_{-\pi}^{\pi} E\left[e^{i\theta (Z_{n,\lambda}(\alpha)-l)}\right]d\theta$$

$$= \frac{\Gamma(1 + \frac{\alpha}{\lambda})(1 + \frac{\alpha}{\lambda})(2 + \frac{\alpha}{\lambda})\cdots(n + \frac{\alpha}{\lambda})}{n!\Gamma(1 + \frac{\alpha}{\lambda})}\frac{1}{2\pi} \int_{-\pi}^{\pi} E\left[e^{i\theta (Z_{n,\lambda}(\alpha)-l)}\right]d\theta$$

$$= \frac{\Gamma(n + \frac{\alpha}{\lambda} + 1)}{n!\Gamma(1 + \frac{\alpha}{\lambda})}\frac{1}{2\pi} \int_{-\pi}^{\pi} E\left[e^{i\theta (Z_{n,\lambda}(\alpha)-l)}\right]d\theta.$$
(27)

By Theorem 3 and (27), we get

$$\sum_{m=l}^{n} S_{2,\lambda}(n+1,m+1)S_1(m+1,l+1) = (-1)^{n-l}\lambda^{n-l}n!E\left[\binom{Y_n}{l}\right]$$

$$= (-1)^{n-l}\lambda^n \frac{\Gamma(n+\frac{\alpha}{\lambda}+1)}{\alpha^l\Gamma(1+\frac{\alpha}{\lambda})} \frac{1}{2\pi} \int_{-\pi}^{\pi} \left[e^{i\theta(Z_{n,\lambda}(\alpha)-l)}\right] d\theta$$

$$= (-1)^{n-l}\lambda^{n+1} \frac{\Gamma(n+\frac{\alpha}{\lambda}+1)}{\alpha^{l+1}\Gamma(\frac{\alpha}{\lambda})} \frac{1}{2\pi} \int_{-\pi}^{\pi} \left[e^{i\theta(Z_{n,\lambda}(\alpha)-l)}\right] d\theta.$$
(28)

Therefore, by (28), we obtain the following theorem.

Theorem 4. For $0 \le l \le n$, $\alpha > 0$ ($\alpha \in \mathbb{R}$), $\lambda \in (0, 1)$, and $i = \sqrt{-1}$, we have

$$\frac{1}{2\pi}\int_{-\pi}^{\pi} \left[e^{i\theta(Z_{n,\lambda}(\alpha)-l)}\right]d\theta = (-1)^{n-l}\frac{\alpha^{l+1}}{\lambda^{n+1}}\frac{\Gamma(\frac{\alpha}{\lambda})}{\Gamma(n+\frac{\alpha}{\lambda}+1)}\sum_{m=l}^{n}S_{2,\lambda}(n+1,m+1)S_{1}(m+1,l+1).$$

4. Conclusion

There are various ways of studying special numbers and polynomials, to mention a few, generating functions, combinatorial methods, probability theory, *p*-adic analysis, umbral calculus, differential equations, special functions and analytic number theory. In recent years, we have had lively interests in the study of various degenerate versions of special numbers and polynomials with those diverse tools. As a fruit of such explorations, we came up with, for example, the degenerate Stirling numbers which are

degenerate versions of the ordinary Stirling numbers and appear in many different contexts. The novelty of this paper is that we obtained two different expressions on sums of products of degenerate Stirling numbers of the second kind and Stirling numbers of the first kind in connection with two different sums of identically independent Bernoulli random variables. This is one example of our efforts in the applications of probability theory to the study of some special numbers and polynomials and also of degenerate versions of those numbers and polynomials.

We would like to continue to find many applications of probability theory to the study of some special numbers and polynomials and also of their degenerate versions. More generally, it is one of our future projects to continue to explore various degenerate versions of many special polynomials and numbers with aforementioned tools.

References

- [1] Adell, J. A. Explicit upper bounds for the stirling numbers of the first kind, (communicated).
- [2] Aizenman, M.; Germinet, F.; Klein, A.; Warzel, S. On Bernoulli decompositions for random variables, concentration bounds, and spectral localization, Probab. Theory Related Fields 143 (2009), no. 1-2, 219–238.
- [3] Araci, A. A new class of Bernoulli polynomials attached to polyexponential functions and related identities, Adv. Stud. Contemp. Math. (Kyungshang) 31 (2021), no. 2, 195–204.
- [4] Comtet, L. Nombres de Stirling generaux et fonctions symetriques, C. R. Acad. Sci. Paris. (Series A), 275 (1972), 747-750.
- [5] Feller, W. An Introduction to Probability Theory and Its Applications, Vol. II., 2nd ed. John Wiley & Sons, Inc., New York-London-Sydney, 1971.
- [6] Gun, D.; Simsek, Y. Combinatorial sums involving Stirling, Fubini, Bernoulli numbers and approximate values of Catalan numbers, Adv. Stud. Contemp. Math. (Kyungshang) 30 (2020), no. 4, 503–513.
- [7] Hwang, H.-K. Asymptotic expansions for the Stirling numbers of the first kind, J. Combin. Theory Ser. A 71 (1995), no. 2, 343–351.
- [8] Kim, D. S.; Kim, T. A note on a new type of degenerate Bernoulli numbers, Russ. J. Math. Phys. 27 (2020), no. 2, 227–235.
- [9] Kim, T. A note on degenerate Stirling polynomials of the second kind, Proc. Jangjeon Math. Soc. 20 (2017), no. 3, 319–331.
- [10] Kim, T. λ-analogue of Stirling numbers of the first kind, Adv. Stud. Contemp. Math. (Kyungshang) 27 (2017), no. 3, 423–429.
- [11] Kim, T.; Kim, D. S. Degenerate zero-truncated Poisson random variables, Russ. J. Math. Phys. 28 (2021), no. 1, 66–72.
- [12] Kim, T.; Kim, D. S. Note on the degenerate gamma function, Russ. J. Math. Phys. 27 (2020), no. 3, 352–358.
- [13] Leon-Garcia, A. Probability and Random Processes for Electronical Engineering, 3rd ed., Addition-Wesley, Massachusetts, 2008.
- [14] Ma, M.; Lim, D. A note on degenerate multi-poly-Bernoulli polynomials, Adv. Stud. Contemp. Math. (Kyungshang) 30 (2020), no. 4, 599–608.
- [15] Na, H.; Kim, J.-H. A note on type 2 degenerate poly-Genocchi polynomials and numbers of complex variable arising from the degenerate modified polyexponential function, Adv. Stud. Contemp. Math. (Kyungshang) 30 (2020), no. 4, 559–57.
- [16] Roman, S. The Umbral Calculus, Pure and Applied Mathematics 111, Academic Press. Inc. [Harcourt Brace Jovanovich, Publishers], New York, 1984.
- [17] Ross, S. M. Introduction to Probability Models, 4th ed., Elsevier/Academic Press, Amsterdam, 2014.
- [18] Simsek, Y. Generating functions for finite sums involving higher powers of binomial coefficients: analysis of hypergeometric functions including new families of polynomials and numbers, J. Math. Anal. Appl. 477 (2019), no. 2, 1328–1352.